## CURRICULUM COMPENSATION

I RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ADDAMS ELEMENTARY SCHOOL PLANNING YEAAR ILT PLANNING ACTIVITIES MAY 7, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-0100-1341-535-5)

Gilbert, Rachel Mitchell, Natalie

Harris, Sherry

II RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ADDAMS ELEMENTARY SCHOOL PLANNING YEAR ILT PLANNING ACTIVITIES APRIL 16, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-0100-1341-535-5)

Gilbert, Rachel Mitchell, Natalie Harris, Sherry Riedle, Lindsey

Kother, Amanda

III RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ADDAMS ELEMENTARY SCHOOL PLANNING YEAR ILT PLANNING ACTIVITIES APRIL 9, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-0100-1341-535-5)

Gilbert, Rachel Mitchell, Natalie Harris, Sherry Riedle, Lindsey

Kother, Amanda

IV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DUBOIS ELEMENTARY SCHOOL UIS RESTORATIVE PRACTICES MAY 12, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-0000-1341-537-5)

Anders, Clare Kwedar, Rebecca Antonacci, Abigail Mccord, Sarah Bland, Rachel Vogel, Carolyn

V RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES APRIL 7, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Johnson, Gay Lewis, Danielle

VI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES MAY 20, 2025, \$36.99 PER HOUR: (10-2210-4331-1341-534-5)

Jett, Tandra	1.50 hours	\$55.49
Moore, Lori	2.00 hours	73.98
Peterman, Sarah	1.50 hours	55.49
Seaver, Christine	1.50 hours	55.49

VII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES MAY 12, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-4331-1341-534-5)

Baldin, Jennifer Kahl, Lindsay
Fox, Kathleen Nolte, Erin
Hustedt, Isaac

VIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES MAY 13, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-4331-1341-534-5)

Ciotti, Ryan Moore, Lori

Fox, Kathleen

IX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES MAY 12, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-4331-1341-534-5)

Hendon, Wendy Nolen, Emily

Moore, Lori

X RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES MAY 8, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-4331-1341-534-5)

Beatty, Danielle Moore, Lori Hendon, Wendy Nolen, Emily

XI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION ELEMENTARY TECH FACILITATOR PD APRIL 7, 2025, \$36.99 PER HOUR, 5 HOURS FOR A TOTAL OF \$184.95 EACH: (10-2210-0000-1341-564-5)

Rudd, Douglas

Schwab, Stephanie

XII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES MAY 5, 2025, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-4331-1341-534-5)

Kahl, Lindsay Nolen, Emily

Moore, Lori

XIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL SCHOOL IMPROVEMENT BBSS PLANNING ACTIVITIES MAY 6, 2025, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-4331-1341-534-5)

Anderson, Annaelise Copp, Deborah
Barrett, Caitlin Craig, Jonathon
Biggs, Brian Dwyer, Stephen
Cecil, Katelyn Lenhardt, Kyle

XIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL SCHOOL IMPROVEMENT ILT PLANNING ACTIVITIES MAY 21, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Berberet, Jamie Jimerson, Angela
Boarman, Claire Rosa, Leslie
Cecil, Katelyn Selsor, Michelle
Crow, Cynthia Stevenson, Lexie
Hemstock, Steven Westfall, Katrina

XV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES APRIL 9, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Johnson, Gay Lewis, Danielle

XVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES APRIL 28, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Johnson, Gay Lewis, Danielle

XVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL SCHOOL IMPROVEMENT ILT PLANNING ACTIVITIES APRIL 24, 2025, \$36.99 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$46.24 EACH: (10-2210-4331-1341-534-5)

Berberet, Jamie Garman, Jeffrey
Boarman, Claire Jimerson, Angela
Cecil, Katelyn Johnson, Gay
Craig, Jonathon Scott, Tyra
Crow, Cynthia Westfall, Katrina

XVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL PLANNING YEAR PLANNING ACTIVITIES MAY 21, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-3100-1341-535-5)

Duke, Karen

Gebhardt, Emily

XIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES MAY 14, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Burke, Evan Mitchell, Shanna Greenfield, Darrin Murphy, Melissa House, Mikaila Nestler, Tena Jones, Theresa Noll, Meghan King, Courtney Roark, Heather Langen, Natasha Schaver, Maire Lantz, Andrew Shirley, Gabrielle Lee, Sabrina Woodside, Alexis

XX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES MAY 12, 2025, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-4331-1341-534-5)

Campbell, Melissa

Woodside, Alexis

XXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES MAY 12, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Nestler, Tena

Roark, Heather

XXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL SCHOOL IMPROVEMENT FACE PLANNING ACTIVITIES MAY 8, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Durbin, Lori Roe, Katie

Finney, Elizabeth Woodside, Alexis

Langen, Natasha

XXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL SCHOOL IMPROVEMENT ILT PLANNING ACTIVITIES MAY 6, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Jones, Theresa Noll, Meghan
Lantz, Andrew Piper, Riley
Lee, Sabrina Schaver, Maire
Mitchell, Shanna Shepherd, Tosha

Nestler, Tena

XXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES APRIL 22, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Koebler, Bailey

XXV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRANT MIDDLE SCHOOL SCHOOL IMPROVEMENT ILT PLANNING ACTIVITIES MAY 5, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Gibbs, Katie Montooth, Jennifer
Harrison, Maggie Rawls, Nicola
Minton, Jacquelyn Silveri, Tracy

XXVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR WASHINGTON MIDDLE SCHOOL SCHOOL IMPROVEMENT ILT PLANNING ACTIVITIES MAY 22, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Coons, Roanna Schaefer, Bridget
Daniels, Sherry West, Andrew
Mccarthy, Caitlin

XXVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRANT MIDDLE SCHOOL SCHOOL IMPROVEMENT ILT PLANNING ACTIVITIES MAY 19, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Archey, Heather K

Buckles, Candice

Gibbs, Katie

Minton, Jacquelyn

Rawls, Nicola

Scott, Kelly

Silveri, Tracy

Stevens, Jamie

Montooth, Jennifer Ziemba-Montavon, Tammy

Nika, Anthony

XXVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRANT MIDDLE SCHOOL SCHOOL IMPROVEMENT IAR TRAINING ACTIVITIES MARCH 26, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Taylor, Michael

Taylor, Neal

XXIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR WASHINGTON MIDDLE SCHOOL SCHOOL IMPROVEMENT BBSS PLANNING ACTIVITIES MAY 15, 2025, \$36.99 PER HOUR, .75 HOURS FOR A TOTAL OF \$27.74 EACH: (10-2210-4331-1341-534-5)

Baker, Roxanne

Manning, Pamela

Hampton, Bobby

XXX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FEITSHANS ELEMENTARY SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES MAY 13, 2025, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-4331-1341-534-5)

Crumrine, Carrie Patterson, Jami Milward, Kara Williams, Alyson

XXXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION ELEMENTARY MUSIC CURRICULUM PLANNING MEETINGS FEBRUARY 13, 2025 THROUGH MAY 14, 2025, \$36.99 PER HOUR: (10-2210-0000-1341-564-5)

Delong, Michele	8.50 hours	\$314.42
Easley, Kiesha	8.50 hours	314.42
Frost, Karen	8.50 hours	314.42
Minch, Amy	8.50 hours	314.42
Smetters, Jacob	4.00 hours	147.96
Yockey, Lucille	6.50 hours	240.44

XXXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRANT MIDDLE SCHOOL SCHOOL IMPROVEMENT IAR TRAINING ACTIVITIES MARCH 26, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Archey, Heather K Nika, Anthony Barnard, Angela Paine, Mary Blunk, John Rawls, Nicola Buckles, Candice Reed, Jennifer Combs, Sara Reynolds, Amanda Cosgriff, Amy Rincker, William Daugherty, Brian Rivera, Onya Romer, Gina Froehner, Nicole Gibbs, Katie Schroeder, Cynthia

Harrison, Maggie Schwappach, Hayley
Hoyt, Elizabeth Scott, Kelly

Kleinertz, Larresa Silveri, Tracy Krutsinger, Roxane Stevens, Jamie Lynch, Kiersten Strauch, Allyson Mcnear, Durick Teubner, Kenneth Mehmood, Arshad Thomas, Lori Meyer, Catherine Turner, Wendy Minton, Jacquelyn White, Christy Mitchell, Daj'Za Whitlock, Julie

Montooth, Jennifer Ziemba-Montavon, Tammy

XXXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FEITSHANS ELEMENTARY SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES MAY 12, 2025, \$36.99 PER HOUR, 2.5 HOURS FOR A TOTAL OF \$92.48 EACH: (10-2210-4331-1341-534-5)

Crumrine, Carrie Patterson, Jami

XXXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FEITSHANS ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES MAY 8, 2025, \$36.99 PER HOUR, 2.5 HOURS FOR A TOTAL OF \$92.48 EACH: (10-2210-4331-1341-534-5)

Crumrine, Carrie Rajsky, Heidi Ericson, Stacey Volk, Rachel Patterson, Jami Williams, Alyson XXXV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRANT MIDDLE SCHOOL SCHOOL IMPROVEMENT FACE MEETING PLANNING ACTIVITIES APRIL 30, 2025, \$36.99 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$46.24 EACH: (10-2210-4331-1341-534-5)

Archey, Heather K

Barnard, Angela

Bisby, Amy

Bisby, Amy

Rawls, Nicola

Blunk, John

Reed, Jennifer

Buckles, Candice

Reynolds, Amanda

Combs, Sara

Rincker, William

Cosgriff, Amy

Rivera, Onya

Schroeder, Cynthia

Daugherty, Brian Schroeder, Cynthia
Froehner, Nicole Schwappach, Hayley
Gibbs, Katie Scott, Kelly

Silveri, Tracy Harrison, Maggie Heady, Cynthia Snyder, Stephanie Hoyt, Elizabeth Strauch, Allyson Taylor, Michael Krutsinger, Roxane Lynch, Kiersten Teubner, Kenneth Thomas, Lori Mcnear, Durick Mehmood, Arshad Turner, Wendy Meyer, Catherine Whitlock, Julie

Minton, Jacquelyn Ziemba-Montavon, Tammy

Monahan, Sarah

XXXVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FEITSHANS ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES APRIL 28, 2025, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Crumrine, Carrie Milward, Kara Mcquillan, Marilou Patterson, Jami

XXXVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FEITSHANS ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES MAY 5, 2025, \$36.99 PER HOUR, 2.5 HOURS FOR A TOTAL OF \$92.48 EACH: (10-2210-4331-1341-534-5)

Volk, Rachel

Crumrine, Carrie

Ericson, Stacey

XXXVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR LANPHIER HIGH SCHOOL PLANNING YEAR PLANNING ACTIVITIES APRIL 24, 2025, \$36.99 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$46.24 EACH: (10-2210-5100-1341-535-5)

Fisher, Carl Johnson, Nefra Hodapp, Brad Midiri, Frank Hunsley-Hunt, Stephanie Poe, Sarah

XXXIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES APRIL MEDICAID BILLING ACTIVITIES APRIL 1, 2025 THROUGH MAY 7, 2025, FOR RATE SPECIFIED: (10-2210-6220-1342-000-0)

Baker, Audrey	4.00 hours	\$47.01 Per Hour	\$188.04
Bramblett, Rebecca	5.00 hours	73.24 Per Hour	366.20
Brinkmann, Kristen	5.00 hours	66.11 Per Hour	330.55
Clark, Michelle	4.00 hours	78.78 Per Hour	315.12
Cruz, Brittany	5.00 hours	63.17 Per Hour	315.85
Deatherage, Debra	4.50 hours	67.86 Per Hour	305.37
Farley, Nicole	5.00 hours	57.30 Per Hour	286.50
Fenstermacher, Lori	5.00 hours	78.78 Per Hour	393.90
Foster, Jennifer	4.00 hours	58.78 Per Hour	235.12
Groesch, Erica	2.00 hours	78.78 Per Hour	157.56
Hamlin, Abigail	5.00 hours	57.30 Per Hour	286.50
Hummel, Emily	4.50 hours	73.24 Per Hour	329.58
Kim, Whitney	5.00 hours	78.78 Per Hour	393.90
Lanter, Lindsey	4.00 hours	64.96 Per Hour	259.84
Marcum, Stacie	3.75 hours	61.00 Per Hour	228.75
Mcdaniel-Norton, Stacey	4.75 hours	77.67 Per Hour	368.93
Meyer, Erin	0.50 hours	75.45 Per Hour	37.73
Mitchell, Daj'Za	5.00 hours	45.54 Per Hour	227.70
Naumovich, Amanda	4.75 hours	75.46 Per Hour	358.44
Ohl, Stephanie	3.00 hours	55.83 Per Hour	167.49
Parker, Grayce	5.00 hours	60.23 Per Hour	301.15
Plunkett, Cara	5.00 hours	57.30 Per Hour	286.50
Reitz, Laura	5.00 hours	69.60 Per Hour	348.00
Rouland, Jill	3.00 hours	67.58 Per Hour	202.74
Sanberg, Kathryn	5.00 hours	55.83 Per Hour	279.15
Sapetti, Camryn	3.50 hours	45.54 Per Hour	159.39
Swierkosz, Beth	2.50 hours	76.57 Per Hour	191.43

XL RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FEDERAL FUNDS NON-PUBLIC INTERVENTION ACTIVITIES MAY 9, 2025 THROUGH MAY 22, 2025, \$32.26 PER HOUR, 31 HOURS FOR A TOTAL OF \$1,000.06 EACH: (10-3700-0000-1243-531-5)

Lamsargis, Kathy

XLI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MYPERSPECTIVES SCAFFOLDING AND DIFFERENTIATION PROFESSIONAL DEVELOPMENT APRIL 16, 2025, \$36.99 PER HOUR, .25 HOURS FOR A TOTAL OF \$9.25 EACH: (10-2210-0000-1341-564-5)

Anselm, Meghan

Stearns, Katherine

Furkin, Ruth

XLII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION SECONDARY MATH DEPARTMENT CHAIR PD MAY 5, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-0000-1341-564-5)

Barnard, Angela Midiri, Frank
Boarman, Claire Myers, Erin
Bradley, Rechad Schaefer, Bridget
Hayes, Latausha Womble, Ashley

XLIII RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR STUDENT SUPPORT SERVICES APRIL MEDICAID BILLING ACTIVITIES APRIL 2, 2025 THROUGH MAY 6, 2025, FOR RATE SPECIFIED: (10-2210-6220-1165-000-0)

Albaugh, Jenna	5.00 hours	\$62.33 Per Hour	\$311.65
Harris, Hirut	4.75 hours	46.33 Per Hour	220.07
Jose, Bethany	5.00 hours	34.79 Per Hour	173.95
Nelson, Tara	3.50 hours	70.56 Per Hour	246.96

XLIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION ELEMENTARY MATH BUILDING FACILITATOR PD APRIL 24, 2025 THROUGH APRIL 25, 2025, \$36.99 PER HOUR, 5 HOURS FOR A TOTAL OF \$184.95 EACH: (10-2210-0000-1341-564-5)

Borders, Ashley

Creek, William

XLV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION HIGH SCHOOL ENGLISH PD MAY 6, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-0000-1341-564-5)

Bell, Laura Edwards, Dana Goodrich, Karmen

Poe, Sarah

XLVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION AVID LEAD AND COORDINATOR ACTIVITIES JANUARY 6, 2025 THROUGH MAY 30, 2025, FOR RATE SPECIFIED: (10-2210-0000-1341-564-5)

Anderson, Emily	1.00 Stipend	\$132.00
Bell, Laura	1.00 Stipend	99.00
Bluhm, Wendy	1.00 Stipend	115.50
Crumrine, Carrie	1.00 Stipend	247.50
Garcia, Michelle	1.00 Stipend	82.50
Harris, Sherry	1.00 Stipend	280.50
House, Elizabeth	1.00 Stipend	90.75
Jimerson, Angela	1.00 Stipend	363.00
Kurz, Amy	1.00 Stipend	297.00
Logsdon, Alicia	1.00 Stipend	437.25
Maley, Sarah	1.00 Stipend	247.50
Midiri, Stefanie	1.00 Stipend	165.00
Perry, Whitney	1.00 Stipend	82.50
Ramsey, Robin	1.00 Stipend	198.00
Redpath, Sara	1.00 Stipend	49.50
Terrell, Temary	1.00 Stipend	132.00
Totura, Jessica	1.00 Stipend	181.50
Tribler, Kimberly	1.00 Stipend	214.50
Vogt, Denise	1.00 Stipend	140.25
Walker, Amy	1.00 Stipend	181.50
Zaffiri, Alise	1.00 Stipend	181.50

XLVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MIDDLE SCHOOL SOCIAL STUDIES CURRICULUM PROFESSIONAL DEVELOPMENT MAY 15, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-0000-1341-564-5)

Coons, Roanna

Kincaid, Carrie

XLVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MIDDLE SCHOOL ENGLISH PROFESSIONAL DEVELOPMENT MAY 13, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-0000-1341-564-5)

Burgar, Nikki Cecil, Katelyn Gibbs, Katie Martin, Colleen Schatz, Katie

XLIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION FIRST YEAR TEACHER MENTORING HOURS-FORTH QUARTER JANUARY 6, 2025 THROUGH MAY 23, 2025, \$36.99 PER HOUR: (10-2210-0000-1341-564-5)

Antonacci, Morgan	2.25 hours	\$83.23
Bohrer, Devan	0.50 hours	18.50
Brubeck, Sarah	1.00 hours	36.99
Burton, Emily	1.00 hours	36.99
Buske, Sierra	0.50 hours	18.50
Cookson, Lelah	1.00 hours	36.99
Damery, Brent	3.00 hours	110.97
Gardner, Jachala	26.75 hours	989.48
Grendze, Carmen	1.00 hours	36.99
Harness, Amanda	7.00 hours	258.93
Hays, Megan	6.75 hours	249.68
Helton, Rachel	2.00 hours	73.98
Jachino, Rachel	6.50 hours	240.44
Johnson, Kassandra	0.50 hours	18.50
Johnson, Nefra	1.00 hours	36.99
Kelber, Lisa	1.00 hours	36.99
Laub, Jill	3.00 hours	110.97
Layne, Danielle	6.75 hours	249.68
Loken, Susan	4.75 hours	175.70
Mattheessen, Clara	3.00 hours	110.97
Murrill, Rachel	51.25 hours	1,895.74
Oakes, Wendy	1.00 hours	36.99
Olagunle, Jessica	1.00 hours	36.99
Russell, Denni	1.00 hours	36.99
Schilling, Leeann	3.75 hours	138.71
Stenke, Grace	2.00 hours	73.98
Totura, Jessica	2.25 hours	83.23
Urbanski, Allyson	3.75 hours	138.71
Vespa, Darci	1.00 hours	36.99
Vogt, Denise	0.50 hours	18.50

L RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION HIGH SCHOOL SOCIAL STUDIES PROFESSIONAL DEVELOPMENT MAY 8, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-0000-1341-564-5)

Lightfoot, Jeffrey Volpert, Andrew

LI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION LETRS TRAINING HOURS AUGUST 19, 2024 THROUGH MAY 23, 2025, \$36.99 PER HOUR: (10-2210-0000-1341-564-5)

D 11 Cl 1 4	6.00.1	<b>#221</b> 04
Bell, Charlotte	6.00 hours	\$221.94
Billington, Leah	23.25 hours	860.02
Boston, Catherine	17.25 hours	638.08
Campbell, Melissa	19.75 hours	730.55
Cantrall, Cassandra	21.75 hours	804.53
Clarke, Angela	26.00 hours	961.74
Crumrine, Carrie	26.00 hours	961.74
Davis, Lacy	24.00 hours	887.76
Detmers, Erica	17.00 hours	628.83
Divjak, Leann	26.00 hours	961.74
Dold, Jena	24.75 hours	915.50
Drennan, Emily	26.00 hours	961.74
Dukett, Jennifer	2.25 hours	83.23
Dunn, Christine	26.00 hours	961.74
Eddy, Heidi	26.00 hours	961.74
Eichinger, Amy	26.00 hours	961.74
Ethridge-Galloway, Tiffany	26.00 hours	961.74
Faloon, Aidan	26.00 hours	961.74
Freeman, Cynthia	26.00 hours	961.74
Gaines, Shalanda	26.00 hours	961.74
Gordon, Tracy	26.00 hours	961.74
Greig, Anne	19.25 hours	712.06
Hale, Yacira	26.00 hours	961.74
Harness, Amanda	26.00 hours	961.74
Harris, Sherry	26.00 hours	961.74
Hasquin, Jamie	26.00 hours	961.74
Havenar, Meri	26.00 hours	961.74
Hockenyos, Karen	26.00 hours	961.74
Hughes, Lindsey	16.00 hours	591.84
Jurgens, Mary	26.00 hours	961.74
Kahl, Lindsay	26.00 hours	961.74
Kent, Jena	18.50 hours	684.32
Kurz, Amy	23.50 hours	869.27
Londrigan, Amanda	16.75 hours	619.58
Mack, Jeanie	26.00 hours	961.74
Maggiore, Michelle	26.00 hours	961.74
Mckneelen, Angela	26.00 hours	961.74
Moore, Lori	25.25 hours	934.00
*		

Dept of Instruction LETRS Training, August 19, 2024 through May 23, 2025, \$36.99 per hour, cont.

Oseland, Mary	26.00 hours	961.74
Patterson, Jami	26.00 hours	961.74
Quarton, Lori	25.00 hours	924.75
Rajsky, Heidi	26.00 hours	961.74
Reincke, Rachelle	24.00 hours	887.76
Rhodes, Lindsey	20.50 hours	758.30
Rodden, Katelynn	26.00 hours	961.74
Rotherham, Pam	26.00 hours	961.74
Schukai, Melissa	26.00 hours	961.74
Sharpe, Jennifer	26.00 hours	961.74
Stewart, Shelley	26.00 hours	961.74
Stillwagon, Sarah	26.00 hours	961.74
Suerdieck, Cristina	14.25 hours	527.11
Thomas, Sarah	26.00 hours	961.74
Vespa, Lindsay	26.00 hours	961.74
Williams, Alyson	26.00 hours	961.74
Wind, Elin	26.00 hours	961.74

LII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MTSS TEAMS PROFESSIONAL DEVELOPMENT MAY 7, 2025 THROUGH MAY 14, 2025, \$36.99 PER HOUR: (10-2210-0000-1341-564-5)

Abusaba, Rebecca	1.00 hours	\$36.99
Baker, Roxanne	1.50 hours	55.49
Bell, Charlotte	0.75 hours	27.74
Berberet, Abigail	0.75 hours	27.74
Berberet, Jamie	1.50 hours	55.49
Berendes, Sheryl	1.25 hours	46.24
Billington, Leah	0.75 hours	27.74
Boston, Catherine	1.25 hours	46.24
Bowman, Ashley	0.75 hours	27.74
Boyd, Lisa	0.75 hours	27.74
Brady Hanken, Kathleen	0.75 hours	27.74
Brinkmann, Kristen	0.75 hours	27.74
Broussard, Karveta	0.75 hours	27.74
Burke, Jessica	0.75 hours	27.74
Butterfield, Susan	0.75 hours	27.74
Casson, Meghan	0.75 hours	27.74
Cecil, Katelyn	1.50 hours	55.49
Creek, William	1.25 hours	46.24
Crumrine, Carrie	0.75 hours	27.74
Curry, Jason	1.25 hours	46.24

Dept of Instruction MTSS Teams Professional Development, May 7, 2025 through May 14, 2025, \$36.99 per hour, cont.

Daley, Melinda	1.00 hours	36.99
Davis, Lacy	1.25 hours	46.24
Deckard, Holly	0.75 hours	27.74
Divjak, Leann	1.25 hours	46.24
Drennan, Emily	0.75 hours	27.74
Dresch, Kim	1.25 hours	46.24
Dukett, Jennifer	0.75 hours	27.74
Dworak, Jeffery	1.25 hours	46.24
Eck, Lindsay	1.25 hours	46.24
Eddy, Heidi	1.25 hours	46.24
Eichinger, Amy	1.25 hours	46.24
Ethridge-Galloway, Tiffany	0.75 hours	27.74
Farnworth, Christine	0.75 hours	27.74
Flesner, Ida	0.75 hours	27.74
Freeman, Cynthia	1.25 hours	46.24
Freer, Jordana	1.25 hours	46.24
Fretz, Morgan	1.25 hours	46.24
Geosling, Raymond	0.75 hours	27.74
Gibson, Heather	1.00 hours	36.99
Green, Allison	0.75 hours	27.74
Grieme, Nathan	0.75 hours	27.74
Hale, Yacira	1.25 hours	46.24
Hamlin, Abigail	0.75 hours	27.74
Harness, Amanda	0.75 hours	27.74
Harris, Nicolette	1.00 hours	36.99
Harris, Sherry	0.75 hours	27.74
Hockenyos, Karen	1.25 hours	46.24
Holderread, Brooke	0.75 hours	27.74
Hughes, Lindsey	1.25 hours	46.24
Hummel, Emily	0.75 hours	27.74
Hunsley-Hunt, Stephanie	1.00 hours	36.99
Hustedt, Isaac	1.25 hours	46.24
Impson, Jamie	1.50 hours	55.49
Isaacks, Susan	1.25 hours	46.24
Johnson, Kassandra	0.75 hours	27.74
Jones, Terwanna	0.75 hours	27.74
Joop, Michelle	1.00 hours	36.99
Joyner, Abbie	0.75 hours	27.74
Kincaid, Jessica	2.00 hours	73.98
Kinkade, Taylor	0.75 hours	27.74
Koerwitz, Angela	1.00 hours	36.99

Dept of Instruction MTSS Teams Professional Development, May 7, 2025 through May 14, 2025, \$36.99 per hour, cont.

Liska, Laura	1.25 hours	46.24
Logsdon, Alicia	1.25 hours	46.24
Mack, Jeanie	0.75 hours	27.74
Maggiore, Michelle	1.25 hours	46.24
Marcum, Stacie	0.75 hours	27.74
Mccloud, Shannon	0.75 hours	27.74
Mckneelen, Angela	1.25 hours	46.24
Meyer, Erin	1.25 hours	46.24
Miller, Janai	0.75 hours	27.74
Mitchell, Natalie	0.75 hours	27.74
Moja, Julie	0.75 hours	27.74
Moore, Carolyn	1.25 hours	46.24
Moore, Lori	1.25 hours	46.24
Moss, Stephanie	1.25 hours	46.24
Nestler, Tena	1.25 hours	46.24
Netznik, Melissa	1.00 hours	36.99
Nichols, Madalyn	1.25 hours	46.24
Noonan, Megan	0.75 hours	27.74
Oseland, Mary	0.75 hours	27.74
Patterson, Jami	0.75 hours	27.74
Piper, Riley	1.25 hours	46.24
Pochynok, Kelli	1.00 hours	36.99
Poss, Nichole	1.25 hours	46.24
Raynolds, Amy	0.75 hours	27.74
Reitz, Laura	1.25 hours	46.24
Rhodes, Lindsey	0.75 hours	27.74
Rhodes, Macy	0.75 hours	27.74
Robinson, Sarah	0.75 hours	27.74
Rotherham, Pam	0.75 hours	27.74
Rudd, Lindsey	0.75 hours	27.74
Sapetti, Camryn	0.75 hours	27.74
Scheufele, Carrie	1.50 hours	55.49
Schmitt, Sara	1.25 hours	46.24
Scott, Dawn	0.75 hours	27.74
Sharpe, Jennifer	0.75 hours	27.74
Shaw, Lindsay	0.75 hours	27.74
Shepherd, Tosha	1.25 hours	46.24
Sheraden, Catherine	1.50 hours	55.49
Sluga, Carrie	1.00 hours	36.99
Smith-Rudin, Rebecca	1.50 hours	55.49
Sommer, Dakotah	1.25 hours	46.24

Dept of Instruction MTSS Teams Professional Development, May 7, 2025 through May 14, 2025, \$36.99 per hour, cont.

Spears, Heidi	0.75 hours	27.74
Stahr Trimpe, Sarah	0.75 hours	27.74
Stillwagon, Sarah	0.75 hours	27.74
Storm, Hailey	0.75 hours	27.74
Suerdieck, Cristina	0.75 hours	27.74
Swaggerty, Dawn	1.50 hours	55.49
Taylor, Kyra	0.75 hours	27.74
Terrell, Temary	0.75 hours	27.74
Thomas, Carly	0.75 hours	27.74
Troppa, Angela	1.00 hours	36.99
Vespa, Lindsay	1.25 hours	46.24
Whitley, Samuel	0.75 hours	27.74
Williams, Alyson	0.75 hours	27.74
Wind, Elin	0.75 hours	27.74